$ show sys : _
OpenVMS V7.2-1 on node REN 8-0CT-2002 16:41:31.11 Uptime 41 19:43:26

Pid Process Name - State Pri I/0 CPU Page flts Pages
"21C00201 SWAPPER HIB 16 0 0 00:00:29.73 0 0
21C00206 CLUSTER_SERVER HIB 13 2880 0 00:07:13.01 817 31
21C00207 CONFIGURE HIB ic 43 0 00:00:00.22 346 16
21C00208 LANACP HIBO 13 -— swapped out -- - 30
21C0020A IPCACP HIB 10 10 0 00:00:00.01 30 19
21C0020B ERRFMT HIB 8 122466 0 00:00:58.63 . 14¢ 62
21COD25F <SMTP-06> HIB 6 8837 0 00:00:08.02
21C0AZ264 <POP3-01> HIB ) 5603 0 00:00:02.73 1631 855 N
21013470 CLUCAS ‘ LEF 5 1696 0 00:00:01.41 24%4 138
21CL0A72 PMDF64 tep_loca HIB 6 3404 0 00:00:01.95 2065 40
21C13C76 <PMDF-70877088> LEF 4 395 0 00:00:00.34 1547 87
21C13877 19392 sucks’ CUR 5 496 0 00:00:00.50 1767 ‘129
21010287 <DISPATCHER-01> HIB 6 1038375 0 00:07:53.55 5427 61l N
21C00499 SYMBIONT 23 HIB 7 15821 0 00:00:05.68 12731 15
21C1376F TROBINSON LEF 5 11437 0 00:00:17.68 3494 140
21C10192 PMDF44 tcp_loca HIB 6 4902 0 00:00:03.42 9262 42
21C13B%4 RSTANO LEF 5 2246 0 00:00:01.25 2950 .71
21.COFB9D SSHD Master LEF 7 21686 0 00:00:16.61 2111 182
21C139A0 <HTTP-01> " HIB 6 153 0 00:00:00.24 1377 691 N
21C13BAl <POPPASSD-01> HIB 6 156 0 00:00:00.22 1402 759 N
21C117C2 CSNYDER LEF 10 2276 0 00:00:01.20 4001 1126
21C135C3 CSAINZ LEF 10 2183 0 00:00:01.06 2892 1162
21C13BC4 JNearing LEF 5 1235 0 00:00:01.09 4695 61
21C139D2 <IMAP-10> - - HIB 6 34287 0 00:00:16.25 1978 1216 N

$ ps -alc . - o _ 7
UID PID PPID CPU PRI NI YSZ RSS WCHAN STAT TT TIME COMMAND
1001 710 709 0 18 0 1288 856 pause Ss jolt] 0:00.18 tcsh
-1001 80650 710 0 28 0 464 240 - R+ =14, 0:00.00 ps
5113 80386 80385 0 18 0 1340 908 pause Is p3 0:00.06 tesh
5113 80547 80386 0 4 0 1224 692 - T p3 _0:00.04 a.out
5113 80555 B0386 0 4 0 1224 692 - T p3 0:00,02 a.out
5113.80647 80386 0 2 0 1368 984 select S+ p3 0:00.04 pico
1003 75378 75377 0 18 0 1360 924 pause 1Is pd 0:00.28 tecsh
1003 80518 75378 0 3 0 1664 1408 ttyin S+ pd 0:00.20 vi
5125 79402 1 0 10 0 4260 3732 wait I p5- 0:00.07 gdb
5129 79403 79402 277 62 0 1736 1276 - RX. p5- 38:54.40 pl03b
1070 80600 80599 0 18 0 1340 908 pause 1Is DS 0:00.04 tcsh
1070 80643 80600 0 2 0 1352 932 select S+ pb 0:00.05 pico
1011 75893 75892 0 3 0 1288 884 ttyin Is+ pb 0:00.03 tcsh
2000 78943 78942 0 18 0 1372 920 pause Is p8 0:00.08 tcsh
- 2000 80535 78943 0 2 0 1520 1140 =zelect I+ p8 0:00.02 pico
"5139 80571 80570 0 18 0 1316 884 pause Is o 0:00.04 tesh
51395 80580 80571 0 2 0 1452 1072 select I+ o)) 0:00.01 pico
5137 72685 72684 0 18 0 1336 3904 pause Is pb 0:00.08 tcsh
5137 73440 72685 0 2 0 1440 1036 select I+ ph 0:00.01 pico
1032 79270 79267 93 30 13680 952 ttyin ‘Is+ pd 0:00.04 tesh
5129 79467 1 0 10 0 3956 3432 wait 1 pt- 0:00.07 gdb
5129 79472 79467 272 62 0 1736 1276 - RX pE- 36:17.00 pl03b
o 717 1 1] 3 0 924 552 ttyin Is+ w0 0:00.01 getty
0] 692 1 0 3 0 924 552 ttyin Is+ vl 0:00.00 getty
e 0_._.893 1 0 3 0 924 552 ttyin Is+ v2 0:00.00 getty
0 694 1 0 3 ¢ 924 552 ttyin Is+ v3 0:00.00 getty
0 695 1 0 3 0 924 _552_ttyin Is+ vd 0:00.00 getty
0 696 1 0 3 0 924 552 ttyin Is# v5 0:00.00 getty

-



